e inEJ
~  Measurements Jju;

I'0omain (I): Distance, Speed

and Time 5,003, Lo

solved Exercise 3.15F

coverl AT

) skm 313m info m RRII3RE S

1km= 1000m 3
skm= 5x100m

5000m
5kﬂ13l3m = 5000m + 313m

| =5313m %

10 km 200m into m LHAK 2002510
{km = 1000m £
10km= 10 x 1000 m

10,000m

10,000m +200m

=10,200m < { )
| i) 120 m 78cm into cm RGP E720048 10
' ol 1km = 100cm

]

AERERRENY

(i)
I Sol.

Il

|

‘ |0km 200m

BARRARBIRERINRIRNEY

120m = 120 x 100cm :

| = 120,00cm
om78m = 12,000m + 75em
= 12,078cm .

(h) 200m into cm LHETH200
gl Im = 100cm 1
200 = 200 x 100cm
| = 20,000cm (~ N> :
(v) 54m into cm bff'fu.‘:ﬁfs‘t :

' Sl Im = 100cm
g 54m = 54 x 100cm
| = 5400cm (~
' (vi) 95km into m LRIE 95
Sl lkm =1000m
| 95km = 95 x 1000m
=95,000m A
2 Zahid goes Ior a walk daily. The distance from house
fo the park is 5100m. Find the distance between
house and park in km and m.

? e 5100 LGKEL) L.:./‘Cul-c.rbé.ﬁf..l/wb

FdqAdadadetdduddadqean

aciiq

QA4 addcdan

g ek E e S
- Sol. Distance from house to park = 51 OOm $
Lob¥ F S Lc_ / §
Distance from house to park inkmandm = f(;% km  :
ufffJ;lf'f)nghb/jJ£ -:_/r E
= Skm 100m 10025 S — :

! 5100

100 5000

100

m
. Length of fjrst rope (JHJJJ.{') =20 2

Sana bought 20m 75¢m of cloth and she used 15m
85cm from it How much cloth is left with her in cm.

S 1 55 85 i 15 e SRS T K 0L
-tg.;u,)fci""'kfﬁdiﬁd’-k(

m cm
. Lengthofclothbysana = 20 75
il €
Length of cloth used by sam = -15 85
el
How much cloth is lcﬁ 4 90
vdu

Length of left cloth in cm = 4m 90cm=4x100cm+ 90cm
w/fu"k-&_./dt =400cm + 90 cm

=490cm /u"

4 The distance belween Azra's house and Masjid is

4500m. The distance between Ayesha's house and
Masjid is 7600m. whase house is nearer to the
Masjid and how much in km?

(//;I/L,.Jlac-/ 4500 46 (s K/nf/ﬁ 1 dé
u:ﬁ){,bbw:f-q_/-/. s / ﬂf:.r‘;. K TGDOJJbGyu
A

Sol. Distance between Azra's house and Masjad=4500m

A GC}L/JLJ_{J)JL‘JJ‘

Distance between Ayesh's house and Masjad =7600m

Distance from Azra's house to Masjad is less. So, Azra's
house is nearer the Masjad.

et I Aind e Aobc 6L 15057
Difference of both distances = 7600m —4500m ~
ISk UM6Ush =3100m

: Difference of both distances in km= ';’(])88 km /’(

s u,/‘-:‘;KJ / b’u:l" Uui::
=3km100m <100%%3
The length of two ropes are 20cm 2mm an 15cm
9mm. What is the difference between the Iengths of
two ropes in mm.

u)u.(_'-/d'%ﬂ/’(j’ISA'/JZ/”U’IOJUJU:‘H)
LIRS Snl s

cm

Length of second rope (Jquld/D) =-15 9
Dl fference between length of rope 4 3

IS s

: Difference of length of ropes in mm = 4cm 3mm

LU0 ¥uF IS e
= 4x|0mm + 3mm
= 40mm + 3mm
=43 mm /':'3
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Solved Exercise 3.2

1. Convert 3

_ "o

(i) 15 hours 30 minutes into minutes J*
LUF #3015

Sol. 15 hours 30 minutes into minutes

| hour 24 = 60 minutes o+

15 hours 25 = 15%60 minutes .-

= 900 minutes -
15 hours 30 minutes = 900 minutes w2+ 30 minutes >
U305 15
= 930 minutes w2+

(ii) 15 minutes 55 seconds into seconds

| S L L5515
Sol. | minutes »-~ = 60 seconds 4
IS minutes U~ = 15 x 60 seconds 4C
= 900 seconds 45
15 minutes 55 seconds= 900 seconds#£+55 seconds LL

. XES5U” 1S
= 955 seconds +&
(iii) 12 months 15 days into days  JEuh/Uh15027 12

Sol. I month =+ = 30 days w»
12 months = 12 x 30 days s
= 360 days
12 months 15 days = 360 days w» + 15 days o>
UN15u" 12
= 360 days ¢»
(iv) 18 weeks 3 days into days LUIUH3Z8
Sol. | week zi; = 7 days w»
18 week 25 = 18 x 7 days o»

126 days

I8 weeks Bdays = 126days »+3 days @»=129days U
(v) 56 months into years and months

LUl 56

Sol. | mont = = l—]2- years Ju

1l

56 month Is—g- years UsL = 4.6 years Ju

= 4 years 8 moth &8 JL-4
(vi) 60 days into weeks and days gﬂu}mlu?‘fu:’:ﬁﬂ

Sol: ldayy: = % weeks &

60 days ¢y = %Q weeks 21 = 8.5 weeks 2

8 weeks 21 4 days o
(vii)870 day is into years and days

Il

u:uiu,-ruitf/u),s7o
|
Sol. | day o = 363 yearsrdl/ \
870 days o»» = % years Ju

= 2.4 years Ju = 2 years 140 days w1402

NI e R L Rl

SEBEBRARRERERRRERRINY

FERERRRRRRRREEEBERL

10101(1!1111(1u11111l11'1141nqllqllOICIlclllllcdalll!dll.tl‘dl{tqdd-1|4ld¢dddd¢dllclllildldl!|l1d1||4lld4ldl.blbhlll

(viii) 3900 sec Uﬁ;;_;”'u";fkghm
Vo e 3
Sol. | second i = %0 minutes 2=
3900 . i
3900 seconds = 60 minutes 2

onds into minutes and seconds |

= 65 minutes &4

complete the following table. -u_‘/d”';U,,, $ias

2.
Sol. _— ——— R
—é—r:— 12 hour time ..-J:Z'IZ 24 hour u@
D) 4:50am. 4 :50\
(ii) 9:30am. 9: 3_0\\
(iii) 7:10 p.m. 19 ilL\
(iv) 9: 05 p.m. N
v) Midnight L I
(vi) 4:00 p.m. 16 Uﬂx\
(vii) Midday 12:00
3. Ahmad works in a factory for 135 mnnlh—sm
many years does he \_work in the factory?
N E LGB iR g,
Sol. Duration of Ahmad's work = 135 months &
S8l 2
Duration of Ahmad's work in years e N
35 =l :;5
= 11—2— years Jb- e
= 11 years 3 month 115 19 [ R N v A
3
4. Zain spends 315 weeks 5 days in his grand motherg
house. How many days does he spend in hjs
grandmother's house? ‘
UJZ/LdJleILJI-g(EUJSZBISjédjbd;l'gd_';
=5
Sol. Duration of Zain's stay = 315 weeks 2 5 days ¢
:,AJ(‘L;LQ_'_;
Duration of Zain's stay in days
JU;”‘-*Jf.GLC{J = 315x7 days ws+5daysy:
= 2205+.5
= 2210 days >
9. Hameed takes 3 weeks 6 days to complete a science
model. How many days does he spend to complet
the S‘CIEI.ICE model? Also convert the days inta hours
Uihe &L D6 213 2 &k 3 LI L L
o P LU b 2L
ol

Time taken by Hameed to complete modal
Wi 2SI L7 = 3 weeks 22 6 days e

Time taken by Hameed in day =3»7daygys + 6 daye:

SUSSEK = 2] + 6

= 27 days o

https://stepacademyofficral.com/—
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solved Exercise 337

PP T T T T T Sevenana,
)

A bus stats traveling at 6 : 15 am_ ang Stop al 8 : 50

| i p.m. find the journey time,

P AT Y S P
, Ny

First, convert 12 hour time into 24 hour time ol
~_‘,f_:2./g.{iqi—-3’u:u;f WIS L G b
Depareherlime -:r’ﬁb’(_;'u =6:.15cm=6:]5 By

",

sol.

Arriual time ZH¢E° = 8:50p.m = 20.50

T hr 25 min o
r[i\’al time i,!,b/',r Z 20 Y
pepareher time WS, = 5 15
', Joumytime sk = 7 5

- 50,J : _
|7, Ali left home for school at 8:00a.m and arrived ! Deparchertime =iy =

¥
|
I
4
i
\

|
]
!
I
|
|
|
i
|
|

i

|
|

ourny time ki Us = 14 hr 24 35 min oo
school at 8:30 a.m. Hreminded at school for 5 hours

and 15min. When did he get off from the school?
How much oulside home?

-
-
-

L

BRASBRLINANRE D

-
-
-

-
-
-
-
-

ERRABRR R

It means he finished his journey a

5

t 12:50a.m next day
PG 12:50u & 1 6T 8!

12:50a.m=00:50

Ahamad reached expo center a

the book fair. He left book fair at
time did he spend the book (air?

340 Cnr- it Pt léq:oofé.ﬁa?gﬂ-&’-.—of-_-gf :
Ul f:ﬁ;lﬁ’ Skt v it 2l /3 ':): /

to 9:00a.m lo attend
3:40p.m. How much

¢ Sol. First convert 12 hour time into 24 hour time.

St Sl 2l 124

Ahmad's arrival time at expo center = 9:00 a.m = 9:00

a
-

-
a
-

-
-
a

L T 12
: Ahmad's deparcher time from expo center
£ =3;40a.m = 15:40
hr&d  mines>
15 40
Arrival time Ea = =9 00
: Stay duration Sy = 6 40

ﬂlg5U¢J:¢u-§fdﬁ48:$0&ﬂbuluf__8:006&/& :

Jl ,u&;;c/::’s W u,lmﬁ,,s_/ = d:ﬂn:-u’ww‘;

Sol. Ali's depareher time for school = 8:00a.m = 8:00

nd LSl sk
Ali's arriual time at school = 8:30a.m = §:30
SRk
The time spent in school = 5hred 15 min &=
=K s
hr 28 min &
8 30
5 15
13 45

So, time of colsing of school. = 1 : 45 p.m
Time spent by Ali out side the house = 13:45 - 8:00

lﬂfﬁjt}.ﬁgc‘.}’ﬂ&
hr &’ min &
1% 45
-8 00
; 5 45
So, Ali spent 5 hr o 45 min <> outside.
' QJ";(;:_/"_‘.-'/‘ASgS&'_J‘ﬁ

3. Salman started his journey at 4:50 p.m and traveled
for 8 hours. When he did finish his journey? Write
the answer in 12 hours and 24 hour format.
FUL YN EEL RS s o 4:50 j ) Ll

LS L=l U 248 |z.,l£-l_/[7

Sol. First, convert 12 hour time to 24 hr time.

St el o 1k
Departure time =5,¢(f1, ‘= 8 hours & |
Duration of Journy KLy 7L =16:50+8 hr &

L N Y T L ]

AEERR]

4940084490044

0444 dqqeae9ddqduaaaqqqaieaagetqd

Cadddqaqdaadaagdddacadadd

WO ad e aqadiadasadaqeedd

Sol.

Sol.
Time of returning from chairty show = .

.Time of arrival at chairty show =

Time spent at chairty program = |

So, he spent 6 hours and 40 minutes at book fair.

ML T 40125 65 AT
Rehan attend an online lecture for 1Thr 40 min which
ended at 3 : 45 p.m when did he start to_atiend the
lecture?

.;-m&smsrt#fzyr.'_:ammﬂ._flﬁqcfﬂuf-ﬁi-ub
| e LA

hr =z min 2>+
3 45 p.m
—1 40
2 03
So the lecture was started at 2 : 05p.m
_‘:TCJ/‘{Z:OS/";//,ZJ:
Usman went to a charity program at 09:50 am on
Sunday. He return at 11:25 a.m. How much time did
he spend over there?

T, 11:255;!%9:505¢ﬂ)§43',é-{'c}*
g -L"/:J’f::’;l;(
hr 2

11

min &2
: 25 a.m
.;:!;b”(ﬁ":;("):{df/f

y % -9 50
.::’sb/"é;u.‘.(lﬁﬂjfﬂ

35

BRI

so he spent 1 hour 35 minutes there

11 S35 12 | st

[ Skill Practice: :** 3,

hr & Ty e Convert 150km/h into m/s. -
16 50 S LLIE B3 22K 150
8 00 : 150x 1000 .
e B 50 Pl U “Teng, 7 sl m/s 2E G
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¢ Convert 120m/s into km/h.
LR IEORNE Y pe120

o\ b A % s 2() . < .
Sol. 120 m/s 2E 3% = .l__l_(%_&)_@ =432 km/h S 3pe

* If hamza solves 5 question in 1 hour and 15
question in 4 hour. What was his average speed :
to solve the questions per hour? :

= (e eSS R 4 151t e Lt s/l i
'f'k(JLﬂJDJLP!’JLfJ g
Sol. Total number of questions = 5 + 15 = 29 question

= Uy e iy
Total time (hour) (;if)..-_':uJ/ =1+4+4=5hours &

SEBRRRRPORBIRRRRS

Average speed Wbl = Total question = g1y =
Total time =y
20 . -

o 4 questions per hour 24 3= yiy

e Convert 44km/h into m/s.

RUIAP IS ALY S P

Ly 44x100 -
Sol. 44 km/h J""d/-’!(:TXQ;:)%O_O =12.22m/s kX

e Ifa train covers 10 km in 10min, 20km in 20min,
30km ih 30min, find its average speed.

R 30122220 2K 200 w010 2K 108200 LLS]
-u_‘/(;"‘;fbml(ﬁ-d.wso

10+ 20 + 30 = 60km 2%

L R S T

Sol. Total distance J—‘GJ =

LR LR R R e N YY1

Total time _-Imf = 10420 + 30 = 60 min &
. is o Jeli
Average speed Moyl = }-3:2: gg‘: = J

S
O =19y w2

Solved Exercise 3.4

[ . ol . e e e e e b e e ke ik )

d4444detardeegatataqs

1. Complete the following table: -q/J{JwJ_J,wp
(a) m/s (3% km/s 2 3KK

35x1000 _
@ 3560 =" 35
; 4 x 3600 :
(ii) 54 5_-1%(_)0_- =1944 :
.| 20x1000 _
(iii) ——;6—06*— =5.56 20 ;
(b) m/s 20K km/s Aop¥ |
18x3600 _ :
(i) 18 —oop— =648
” 15x1000 _ 15 i
(ii) 3600 4.17 :
‘ 55x1000 _ 55
(iif) 3600 - 15.28 :

: 2. \l1f'a horse covers 40 km In

every 30 Minutey ~ H
find the speed In km/h. o

L ORI It/ E SUP 30 0K «w/}p Y
-
P alls

Sol. Total distance covered by horse = 40 km x¢
Y& Jobimio)
Time taken by horse =30minss« 30

= %hr! i

Speed of horse in km/h = == P,y

Py

%9=ﬁ£]’12=30km/hr

. 2k
3. If a car covers 20m 25m and 45m In 7s, 8¢ apg ¢
respectively, then find the average speed of th, o
and convert it into km/h.
IS SEBIE T AR ASH RS K 2080 1
u:;{d){)’;_mlL[/r)”JDJLﬂﬂJJ(A;“-_ J)’LU:

ANy
Sol Total distance = 20m + 25m +45m
= 90m
Total time = 7s + 8s + 10se
= 255 &
Average speed of car = Distance
JBJJW'JJK Time <5
90m _ .,
R 36%
Average speedin km/h = 3.6x3600 _
282K T 1000 =12.96Km/h

4. The speed of train:is 42km/h in 3 hours and 83
km/h in next2; haurs.;Eind:the average speed of
train in 5 hours. .

){,I’ 634 U;.‘;JL'JJU-{ d}f:r 42(;‘_}%&;‘0.’@({”(&1
L P Di LUSTELS SIS i)

Sol Distance covered in 3 hours =42 x 3
V& Lok pys4t
= 126 km X¥
. Distance coved in 2 hours = 63x2
=126 km &
Total distance LoGs¥ = 126km + 126km
= 252km &
Total time =33 =3hr & + 2hr &
=Shr&f

Average speed of train = Jotal distance Lei)

Totaltime 23,
= 252 504wy,

-Eg- [
29
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'sub-Domain (ii):

perimeter and

Challenge: ;g%

N e

Sol. Area of

Area of region I
.,)"A’Il.!"w

composite figures.

Can you find ouy the area of the
given shape ang convert into

millimeters?

o, . ;
- LHJ&'-‘.“-‘,Sh':c’l"h‘.‘t"u.‘-\}”d,j'7k’ :

region| = 8m x 3

1‘4“-311-‘
= 24m g,

i}

2m x 2m

=dm XY,

Area of region 1l = 8§m x Im
LY %
1’1!)‘6{5} - 24"\’
Area of the given sbape = (24+4424)m?
SN = 5w
Areain millimters = 52 x 1000000

e N R e e T T T T Ty

1. Find the area and perimeter of the following

I+ Area of region II

&Qﬁ)

Scm

4cm

- Areaof the composite figure J ¥ S7 =

+ Area of region IlI.

Are_'a Lilbb!

52000000mm? 2 3l
Solved Exercise 3.5,

=D, )‘::l“.;fmu LIV FESLS

i 12m
0 g
N
E m
o
__I.Q_mhI &
™
1Sm
. Sol. Perimeter of figures = 12m + 3m+ 7m + 10m
Hv'gn +3m+ 15m + 12m + 6em
= 68m X
Area of regionl =1xb
.?Jlﬂljlb
=15m x 3m=45m? X,
Area of region Il = 5m x 6m =30m? <,
: S A
R Areaof region I1l = 12m x 3m = 36m? X' 8,

Area of region

=45m? + 30m? + 36m?

=1m 2,

b 8cm

Sol 10cm

i

10cm - Sem

EET TR P e

L T

BesRIrRss

LR R R R I G, mmmTTTTT™T™

Perimeter of figures = Sem + dem + Sem ¢ dem i

A
L;-'_‘

\ren of region (1

Chem HJT
Area ol region | = ( *b

« fem » dem = 20 em?

f~h

. e
b

= 10em

v dem @ 40cm?

Area of the composite figure 76 '/7
= Area of region | + Area of region I

(il

Sol,

o0 | Jik
20em* ¢ 4lem
20m

1

.(:.! ”.:-

olem? =g 2r

(N

S

-

dm

.

Perimeter of the figures -

__:[5111

a

20m + Sm + 8m_ + 20m

Jel§ P 4 4m + 20m + 8m + Sm
90cm A
Area of regionl = 7 x b
;’:l,’,‘.‘:lh
20x < Sx = 100m? KB,

Area of region 11

-_;4"”/'.‘.-3&

{ xh

20m < dm = 80m? X8,

& 2 .
Area of the figure ¢ o/~

= 100m? + 80m? = |80m‘/"-'é/

= Area of region | + Area of region 11
U O RT3 | P8

2. Complete the following table.

)
-q/m:qii,yﬂ

Sol.[ 2ebdt, mm: |em? x40, em? K&,
(i) 4
1400 ol P . AP PR
100 1000000
i
W1 goxto0=10000 100 100 oot
10000
(ii)|  $x1000000 | Sx10000 5
= 5000000 =50000
3. Some part of the floor of a hall is covered with

Sol.

carpet, f!nd the portion of the floor uncovered. .
- AL R e inglo e Ao (FIL Uy g

— 0 ——

| L‘llplh of covered Noor

3 A

g
v
— S —— —
Total length of floor -~ 15 m &
4 ! b\ ‘.;
‘ Ve v
Fotal brduh of Nooy A A
\."";"r\—‘v:i
10m -~
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Length of uncovered floor = 10m — 5m

dUSIIL =i
. = 5m ~<
Area of uncoverd floor = Sm > Sm
TN sl o3
=25m? Z&y

4. Find the area of waking track around the lawn.

.q/(#‘.g';(a.béi’;dw);ﬂéd'.{'

2m

é 16 m :Zm
lawn

Length of lawn = 16 m X
widt}x,{?g:; =6m X

10m

Sol.

dzd,
Areaoflawn = £+D
28
= |6m x 6m
= 96m* Xy
Length of lawn with walking track = 16m + 4m = 20<
Sl e =)k
Width of lawn with walking track = 10 m
Jisdefere i
Area of lawn unit walkingtrack = 1xb
IS ez )k

= 20m x 10m = 200m* X &,
Area of walking track = Area of lawn with track — Area

of lawn = 200 m?®-96m?
=104 m?* Xy

5. Find the area of unshaded region in the u'n!en figure.
g 3Kt LS

50 m
i2m L
2m| E
&
Sol. Length of unshaded = 50 m — 4m -
ngJf_lkA:,L«/
=46m
Width of unshaded region = 20m —4m
Suzd Lwn L4
= 16m
Area of unshaded region = £ xb
TKE s ot
= 46m— 16m
= 736 m* Xy
6. Find the perimeter and area of the following figure.
- /{‘rb’) bb:'.;hﬂ}’ e

L

3m

T N TR TN XY

ARBARBEBRINES

LYY Y

A et At I e a e e aadEaaa i d ettt EAa O PRI R R ERP IR RRR NP RRRRERERRRAREESRRERARRERaRERAROLS

Sol.

= Area of rectangle

s =3m*8m*om+ 3y .o
+5m ' im
=32m <
Areaof regionl = |
e 2

—_— =13) 3 e
Area of rectagel = 8m x 4m =32 w? zp

7 perimeter of figure
el

> 0
x3x4=6m? /"-‘C‘/

,'LK' g
Areaof triangl 2 = |
JJ("/.JJU‘ =+

Area of figure IHF

+ Area ol rectangle*Area of triang|,
S »

x3Ix4?=6m?

J,(lﬁ’_:,t:- + JK 2

= 6m? + 32m* + 6m’

=44m* ZO/

Sol.

 region is 130cm’.

Sol.

Sol.

Calculate the radius if circumference is 240cm,
U0k S,

2 T r = Circumference b5

.'2x2_72-xr =240

- 240
r ———-22x217
Jur= 38.2cm

Find the area of shaded region
when the area of smaller circular

KL s ibl ALY S IN el

- 8,130
Area of small circle = =nr?
..L(L.}'JL‘-:{
130 = 3.14¢7°
130 =7
3.14
414 =rp
Jara = Jp
64cm =

Radius of the big circle = 7em+6.4cm=13.4cm
S Ihe %

Area of big circle = =p?
S e X
= 3.14 (13.4y
= 3.14 x 17956
= 563.9cm? (T
Area of shaded region = 563.9 - 130
I et '
= 4339 cm?* Ly

Can you find the area of
given object.

-Qfé)?#;;(fdﬂd:.:-?g

Area of triangle J. 52 % -
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s R . -

Area of the given object =
given object = 60cm? + 157 cm? Sol. Circumference of the circle = 2ar

‘." INES
e —Qljxéxlo (iv) ¥ (Js) = Tem i 2)7
! 4 : £ Sol. Circumference of the circle = 2ar =2* 5
60cm? T $ .
51 - : Jy = _3_Q§= ~ =
Area of simicircle J/¥e_ Ji_id = %mz b e 71 7 = 44em K-
' " Area of the circle = nr?
T 5"‘3-]4"(10)2 ? = %x(7)2=¥x49
gl ] g s
= 2 :
, 157 cm (d/ S00) Bt
.J/b"f"d; " 17 cm? fd/' § L_f(&-ﬂ) ;
: 22
Soved brercise 3.6 [ R
1. Find the circumference and area of the following = §7§= 12.57cm 25~

circles having: ab’u’ufp‘-:}mlu(u,md;.w

S

r /v =3cm Ko< Area fo the circle 1671 = 1r2r;
: 501, Circumference of circle =2t > ——X(z).’
I 7y ) : 2 88
E = x4 - —
gl : - Za="
Z - 12.57cm? 2478,
- %2-= 18.85cm (% (vi) r (1) =10cm .
ircle J/¥ : Sol. Circumference of the circle = 2r
Area of the circle J§ 7y = np2 : G,
=22 .4 "
FX@Y 3 22
.é, s = 2% 7 X]O
22 ‘I%P‘a28x28cm’ 40
INUNTHUS g = g .
5 g i = 62.86cm XU~
. 4 (%) = tcm 7 : Area of the circle J/6e- 7 = m‘“
SOl-l'(d’u)=%=4cm/,':L;f § = 7 X(]0)2
Circumference of the circle = 2 n* : 72“’ %
22 : = XJOO
S =2 % TX4 T
Nl ] 2200
= 2225 14em = S 7
! =314, 3cm=/u’d/
Ateacfdeyle =" 2. Fillin the blanks. A"
Sl = %%X('*)’ () r(U)=3.1m,C (b5)=19.48m X C (%)

=2nr

=2x 2 x3.1=19.48m %
(i) d(#)=5cm X7, C (4#)=15.71cm Z-Li

272 <16 =i§—2 =50.28 cm? 2570,

(i) r (U12) = Sem

. o EAT—
Sol, circumference of the circle J/be-7b = 2nr

4444034341484 4304444434014 04 QA LA A LAd Lt Qadadd e

= sy r= §=3=25m 2 |
.. C(k#) =2nr |
=220 = 31.43m pej® ~2x 22
Area of the circle ,Lb’g._}b= nr? =15.71 cm /'-f(.;:: 3
22 57 = %2_,(25=§§,_° (i) r (U) = 6em X%, A(G)=113.14 em® KJ=Cr }
i e S (v) d(B) = 1Im %, A (3) = 3457 m* Xy |

https //stepacadallygfﬂmal Com/J
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A(.;;z) ”Ttl‘z
22 (1
2-7-5\( )

=34.57Tm* X8,
3. There are three circular ponds having radii 3.2m,
4.3m and 5.4m respectively in a park. Find the area
covered by three ponds.

K43 X328 SUl uise bt L S o

Sol. Radius of first pond

Area ofhrst pond LIS

X(3 2)’=

Radius of the M.C\)nd pond

-u)}k’.gxw:uruf-c.jfs axl
Y SE L': 32m &
ol

x(|0"4) 32.18m? K,

=43m /<

Area of second pond J ¥ Ut /= nr?

Radlus of 3rd radius pond

Jl.ub/.—ﬂtz../"

Area of 3rd pond

2

”‘2—(4 3)"‘12‘11849

=58.11 m?

=5.4m
=nr?

')

2 x (5.4)= 2><29 16
—9].64m’

4. The circumference of a circular ground is 88m. Find

the area of the ground (take n = 22-)

A= r ) g K88 i So

Sol. Circumference of a circular ground:

radius of a circular ground:

r (Jb/) =

I

For Area of ground:
ACI)

BEK I Ss /s
C (&) =2nr (Uhs)
= 88m ~<
S Kl S 20
88 88x7 _616
2x(2~;—) 2x22 44
"
14m A~
nr?
Qx(M)z
22 g6 - 4312
= 225196 = 7
=6l6m? <y

The diameter of a circular region is 9m. Find the

area and circumference of the region.

Sk /r:l" H/:Lub’ Ll 2 . i KL s bLl
Sol. diameter of a circular region )«‘VL_ufdub =0m &

r =

9

2

4.5

A = mr?

I orarea’

BARRRRRON

SEEERRS

eddeddaddnagade

G0 M aEaaUIaqIIeaaaiiAIaddIauaddandded

dedqaqan

cl01!114‘114‘!111111‘111‘4lll‘llclldllddld.bbbllDlbltlrlbbbt.hplblblb&ibillbhb.v.blbb;tbtrrl'bv-lllllbb.lilublooblriono-lblbtllilll.lnl

A = g_]gx(tl.S)’
- 2242025
7
4—43515 63.64m
7
For Circumference of region: dluey,
C = 2nr

- 2% -27—3 x4.5

_ 198 _24.29m

T f
6. Find the perimeter and

area of the given figure. (s
d/’h:(u)ub'rbpdﬂl.f) m
Sol. Radius ofSeml circle Jl/fe—#bdd  =2m
4
Perimeter of Semi circle Dl Syisd = - x 2ar
= :é-xg‘x—-xz
_ 44 _
) = 6.3m

Perimeter ofglvcn figure J;b'b’fdrd: =

Perimeter of two semicircle+length of two side of rectangle

SLIEUsHsisns

Area of semi circle
)] 7 TN

Area of two semicircles
SIEUs i

Area of rectangle ..'J'A’J-H/ =

Area of the given figure

+ quLJuJ

= 63m+63m+8m+8m
28.6m /4~

2

=8mx4m=32m?

Area of two semicircles +
Area of rectangle
12.6m? + 32m?

= 44.6m* Xy
7. Find the area of the shaded region.

0]

Sol. Area of shaded region J,§2_

SN Ll

Radius of small circle iy, 6 f':e_r" =5m

Area of big circle Db

o i
——

Ihe 3
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- 2, qop 8. Inere is a square plat form inside
7 a circular park. Find the area of
_ 2, 1002 2200 the grassy land. (r 1 = 21m)
7 T3 2l 1 WL Pl sl Lkl
Area OfShaded region ,-?J(Lﬂi,l,:l, =3143-78.6 _L[/?Pélfﬁl—'ﬂ
Bl =235.7 m? Sol. Radius of circle =2Im
Area of big circle — Area of smal| circle S
' I P x EA Area of the circle J,€/ = nr?
(il = 2y
| - Zaa= 202 - 1386m* bl
Length of the side of the square =3m Vel
Sol. Radius of big circle = 5m duse'aLe,

Jbl{ﬂ.jl,gz
Radius of small circle =3m %
Sk i g

Area of the square = side &' * side
= 3m * 3m =9m* <&/
Area of the grassy land = Area of circle — Area of square’

‘ Area of big circle = xr2 4 NS
'2‘ I ey ._u!'d;‘é_hJU’ 13864:b/;.;/'12 - JKCy
4 m? - 9m
» %‘(5)’ = 1377m* X &y
T2, 05350 . Try Yourself: :3i)77
2559wt ot 37

« If the volume of prism is 144cm’, base = Scm ad
height = 4.3cm, then find the length of the prism.

(4" 43645 nin b 50nG 6 1-n( >4 m(f Vr);.g/l
LSS
1

—=bh/
2

Area of small circle = nr?
IR it 2_72,,((3)2

= 2x9=18_250m g,
Area of shaded region J.§ &Ll =
Area of big circle — Area of small circle
I ey — T i

=78.6m*- 28.9m? = 49.7m? /"-’-'C"/

Sol. Volume of the prism (z (127,

144 — %x5x4.3xr

I I I I N O T T T T T e T e Tyl

height of cylinder.

LIPS I a st 210750
Sol. Volume of cylinder =270.75cm?

=4cm x 4cm = 16 cm?
Four corners make a complete circle

-ugz_h.juf...g/d'i_ﬁl;

r 144 =10.75 x £

- : ¥

. 5 144 _

- 10.75

| ‘E’ p 134 = ¢

[ 2em  2cm “ ( So, length of the prism JUJ(J.;J: =134cm (©

| Sol. Length ofg side c_:fsqua:c =4cm Skl Practice: =

* dTiLe, _ \ J iy

: _ Area of the square “;.',(5!/ = side é‘ x side é‘ e If volume = 270.75¢m? and r = 4cm, find the
E

a0 4004100044t dduddiddaud

Radius of the circle/1/6— 7> =2cm 7S 4
Area of the circle J/€ 7 = pr Radius of cylinder i dem S
E i : J Kb =
: o @y . nrt.h = Volume of cylinder (’rhﬂﬂf
3,144y xh =270.75
‘ = 2-,-—2_>‘4=§7§’*"2""°“" % 3.14(16)xh =270.75
Area of shaded region = Area of square—Area of a circle 5024 xh =270.75
;J‘E-Ui.lb:l! I, S/ 7 h & 270.75
= 16cm? - 12.6cm* 5024 |
=3.4cm? (('5/ h =S54em XJ*

:https://ste pacademyofficial.com/
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the surface area of the given figure?
Yr)fy:.LL_f— b’J’ Jﬂd)
- gy huf..‘"l_.c
=7r(r+h)
=3.14(6) (6 +10)

= 18.84(16)
=301.44cm?

Solved Exercise 3.7

.dbdh‘-.lﬁt‘-‘-.-.-.-.-".HO - 0»‘-‘-‘-O“C~Q-‘-.~‘

What will be

Sol. It is the shape of half cylinder,
Surface area of the figure J.J ¥

1. Complete the following table. ...\ v} 3 o

Sol.|Sr. No. mm’® cm? m?
" 300 300
i 3 e )] el o
i) % 1 1500 =%3 | Too000005
0.0000003
(i) | 350x1000 350 350
=350000 1000000
: 0.00035
(i) |7x1000000000( 7x 1000000 7
=7000000 |=7000000000

2. The length of a cubic aquarium is 50cm. Find the
surface area and volume of the aquarium,

- fr:l“'{ul,;".'dk b’r;.! I LIL( SOJ{JJI‘_(JE l.)(.,g
Sol. Length of cubjic equarium JLJJ(JJ.{'J =50cm ~

Surfacearea J,§ =6 x 2
=6 % (50)? .
= 6 x 2500= 15000cm?§<¢,
Volume of cube =¢
A¥E = (50 =50 x 50 x 50
= 125000cm? X <o

3. It the radius and height of a cylinder are 1m and 5m

respectively. Find the volume of the cylinder.
L e 5 1A i S
Sol. Radius of eylinder U1Kl = 1m X%
Hight of cylinder Jt¢) 4 = 5m X
Volume of ¢ylindar FV/J‘J’ =nr2h
=3.14(1*x 5
=3.14x1x5
=15.7m* X
It the length base and height of a triangular prism
are 100m, Scm and 3.5cm respectively. Find the
surface area and volume of prism.
U135 5#}&6@)’/}!6?&;}5&(){6} ..-g/'
-U:/PPFJ"-.;J
- Sol. Surface area of triangular prism = 3/b + bh
' =3(10)(5)H(5)(3.5)
=150+ 17.5
=167.5cm? (’5/

¢ Volume of triangular prism !)"(f"‘-'uv = %x btk }
|

- _—x
g
= 87.50m:

5 The length of a cubic tank 10m. Find the ol

the tank. -z /% el 108U e L&.{:’:

Sol. Length of cubic tank leJJ}'J = 10m %
Volume of the tank (‘,(._Q == (1gp

§ =(10 x 10 x 0
§ > louﬂmak

6. The radius and height of a cylinder pige jg 5
i 250cm. Find the volume of the water in this pip

.‘;m_.;_(‘zso:_;t('25.,#&6;:&/;!‘,/0151,:50,;‘;'&4

- t‘ﬁ VJLJ.ML !
=25¢m r" i

PEsRRRNS

(2323

2 Sol. Radius of the cylinder pipe .
" g J‘ub/..;z’gl//}t}‘f

Height of cylinder pipe‘j

BERRIIMRE

=250cm d

»

-
-
-

L{’,!J._,;g L xk
Aedit =
= 3.14(257(250)
= 3.14(625)(250)
=490625¢m*
" The length, breadth and height of a room are 7m, 5p, |
and 5m respectively. Find the volume of the room,

(728 ﬁ.c". };f 5577 @Jl{'-"ﬂ’d'l’i 'JPJ; /..g

i
Volume of water in pipe

BESRRIERBIRS

A4444 4430444220023 00 Db

, i
Sol. Length J/ =7m <
: Breadth JU:,’, =5m <
Height Jl{';l =5m ~<
Volume of the room (?b’;/ ={xbxh
3 , =% 5x3
=175m* Koo
: 8. A well of 2m radius is dig 100m deep. Find the

volume of the well.
Y R AN AT s)
Radius of well ulub’d_:'f =2m X
Depth of well d,u‘);&,{if =100m &
Volume of the well (fb’q:'f = nrth
=3.14(2)* x 100
=3.14(4) x 100
= 1256m® KA
9. Ifthree cylinders of radius S5¢cm and height 20cm are
joined together end to end. Then find the total
surface area and volume or resulting cylinder.

e iR\ S| Vgﬁgﬂfh'/’ &JLJ({J’{ 2041 '”f‘ 5ﬁ
-Ledimad e
Sol. Radius of total pipeymb_Af = Scm <
Height of total pipe dl(':lb’?f&‘){ =20cm+20cm+20cm
=60cm

Sol.

4844999499 90449494444¢

eqcaq

Gl e dd e ddaddadae

—
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G s vl
Total surface area JJGLJ = 2mr(r + h)

=2x 3,14 x 5(5+60)
=2 x3.14 x 5(65)

i =2041cm?
vglume of the pipe (2{:;& i cm r’(‘j/
:3l4 X (5)2 % 60
=3.14 x 25 x 60

40, Find the surface area and volume of the given :

vi. Ifa car covers 10m in 5s then its speed is:

:c./D;JJI/(.:_J/LJﬁ?{a/"JIﬂA’_{!ﬁ

(a) 1 m/s 2EQ K M2 mis 2604
P (03ms£0X (d) 11:40am
: vii. 25 m/s = km/n: :
LG = PGS
P @6 70 (80 [

viii. Time 03:48 pm in 24-hour clock is:
:f_‘)ﬁd/d/u}fuc:bb’pm 03:48

triangular prism. LIl s @as (B)1348 () 14:48 15:48
i ix. The perimeter of a square of length 4cm is:
:fn)b‘i’d./L'lJEJf 4
P (a)8em K7 (b) 12 em? 20=Ts
: 16 cm 2= (d) 16 cm? Z$%87
\Q'O : X. The area of circle with radius 3cm is: .
4m i Z%JJ(&;'JL}-{J{ 3
: 2 2242 2 255t
st s r e | s B0
Length of prism (¢) JPJ(‘JZ =10cmi! /o) Pk 1 emt= ) e = RSO
‘ (a) 10 mm’/'-’d'&/ @ 100 mm’/'ft}d/

Height of prism (h) dﬂjﬁ{ =3.5¢cm

Surface area of prism .J §i =3(b f#‘bh

(© 1000mm? 248, () 10000 mm? ZU8,

_—_3(]0)(4)_*_(4)(3'5) 2 xii. 1 mm?®= R ———— _-.-:ﬁ&f?{l
SI0H4=IAeF Gy E 1']6““’ ®) 1—55"“3
Volume of the prism(’:b’rj{ = %bhf: : | 1
. - [ 3 Y 3
A\t g 1000 (@) 70000 "
=1 : xiil. The surface area of cylinder with radius = 2cm
l(/)(35)(10) c and h = 10cm.
1 : e K CSn 1084l 2K e
= 70cm?® sk P (a)100em? X7y 150.8 cm? X§<Cy
: S A5 P (o) 1508 em? KGEA  (d) 150 em? KU
Solved Review Exercise 3 U/Ul‘uy : xiv. The surface area of triangular prism with
0000.‘----.--000‘-‘000‘ ‘‘‘‘‘ ‘0‘-4-.‘0-‘ i L=8cm b=4cm h=3cm:
: t " - (] [ n-«' s 5 i . 1 a
1 (l:hl?osf he correct option YK, - ;’:;z: E -,r,,,.,,rﬁ’d’.dl,,fg,d,;g(.mrf3Jngr;{f_g
S iR g g T A ()96 em? 5%l
T 1000 m < (d) 10000 m P O@0sem 25T, (@ 120em? 20T,
ii. ] K ; TS ._J] :: XV, ] mi = . = PP ;.'.. =/'f]
(a) 0.01 cm 2= myo.! em K% : (w1000 cmv{d{‘{'{ (b) 10000 cm® <™
S : I (0) 100000 cm? K5
(©)0.1'm % (d) 0.0001 m % :
li. 16 km = T e TS 1000000 cm? 4§57
wi b '7— B {6 REE : 2. Convert: JISK
¢ m = C “0” . % . s (s -n ¢
() 16000 em %‘3;: m 16000 m X : () 75km 880 m into m. -;}‘-’ff&f 880/-':(75
. : : Sol. I km X¥ =1000m %
iv. 14:00 in 12-hour clock is: :q_utd}'du&'u 14:00 : 75 km/'f)/ =75 x 1000 m X
(a) 01:00 am (b) 02:00 am (¢) 01:00 pm Ji]} 02:00 pm 75 km #<# 880m X =75000m
V. If arrival time = 2:40 pm and journey time = 4 : =75000 + 880 m /<
hours then departure time = . =75880 m ~<
v fie & 4= Sn¥jaipm 2:40 = ¥/ § () 75 em into mm. LR E= s
e = § Sol. 1em (< =10 mm #J

P Isem KT =75x 10mm 44 =750 m x4
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(i) 1585 mm into cm and mm. -.:)f&i/‘{&:y?f;}lﬂs
! _
Sol | mm - Tom K FF ELE
mm < 10 &M <Y 10)355
, | . S8s =50
585 mm X4 585 —em H§T-— %5
10 ) 10 ~£0)
=58 em 25 Smm <t 5
(iv) 5700 m into km and m, ..u:/’.’,rf/'f/f/'-’ 5700
I
vy o 5
Sol. Im~ H}{H)Lm ,'fr( IO;Tf-
, - -50
5700 m X =s7m-'-_'—-1<m::.t’=§-’ 85
1000 ™= = ¢ —%0)
= Skm Z¥ 700m 2 5

3. The park near Hamnal's house is 1km 200 m. What

is the length of park in m?

A T T T 1 )

Peshaneennn

-
-
-

ARARRRAANRARIRR AN EN LAY

'*'%V«IKJHJ_Q-.@(M;/!J;.,JL/LH

Sol. Length of park Ju48_14 = 1 km 2 200 m s

Converting it into meter IR TN 2]
1 km 2 = 1000 m %
Lkm 2% 200 m = 1000 + 200 m
=1200m ¥
8 Complete the following table: -/ /), 300
Sol. 12 hour time 24 hour time
12255 EX2eY
(i) 5:00 5:00 2m
(i) 22:33 10-35 pm
(iii) 18:15 6:15 pm
(iv) 2:30 2:30 am

9. Convert: -/}~

(i) 560 seconds into min and sec. “LiEeri 560

~ I 9
-540
560 —
560 sec £ = Emin.ﬂ/ 20

=9 min 2220 sec 25
(ii) 35 months into year and months.

LU 35
1 2
Sol. 1montho/ = T5year Ju 1235
o -24
35 months & = = year i i

= 2year,)v 11 months &

(iii) 98 week 5 days into days. ~Luhfhstie8
Sol. | week = =7 days s
98 weeks 2 =7 ~ 98 days @

98 weeks 2 Sdays o» = 686 days s
=686 ~ 5 days o>
=691 days »»

ARBaRaIERRRRNRNNY

l!‘|"II.I‘Ill.ll]ll.l...'...llilllilh!lillblll

R LR LRRCIEIITT)

-
-
-
-
-
-
v
-
-
-
.
-
-
-
>
-
-
-
-
-
-
-
-
-
4
-
-
-
-
-
-
-
.
-
-
-
-
-
-
-
-
-
-
-
-
-4
-
-
-
-

V—

(iv) 490 days into months and day;‘,; : .
" 7l
vn ’UH'&J},‘”
< 30 2
Sol. 1 dayoy 30 month 2 30)‘41%
490 i

490 days ¢ = < month 2 i3

_lv
=16 months & 10 days ., \l%“ -
air takes 2 hour 35 minules lo com
* go“r‘newark. Convert the time into seconds,

pd o 2¢L/Jf»rgzrl ?
Sol. Total time taken by Umair < (03 fig #
=2 hours & = 35 minulcs,;_.,

Plete y,

| hour & = 60 minutes o>
2hour 2 =2 60 minutes o
= 120 minutes o
2 hour 2 35 minutes > = 120 + 35 minutes ...
= 155 minutes &>
| minute > = 60 sec 45
155 minutes o=+ = 155 x 60 sec i£

= 9300 sec i£
7. Complete the following table: -/ M unifs
SoliSr. No.| Departure (Journey Time 14 Arrm:
U Time Sy =y S
() | 5:50am |4 hr Z 15 mines| 10:05an |
(i) | 830am [11hr & 18mines| 7:48pm |
Giiy [ 7:50 3hous & | 10:50 |
(iv) | 17:00 [1hrtZ 20 mine-| 1820
v) | 8:40pm |13hr 2 20mine=| 10:00am

8. Ahmed reached science museum at 10:20 am and
left at 03:10 pm. How much time did spend over
there?
I bthie U 03:10 /08015 110:208 L e

ﬂﬁf::‘:%pi_

Sol. First convert 12 hours time into 24 hour time

LIRS i 4S50 12&

Time of arrival at science museum = 10:20 am
SHEF s L = 1020

Time of departure from science =3:10 pm

museum KLl = 15:10
@

Time of departure ~ =3,7_ 21, = 15:10
=10:20

Time of arrival SEZF =4:50

So, he spent 4 hr 50 min in museum.
e tSans0 2 4 2l LIS
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A\ e ) . —
Ahmed left house at 12:00 pm apgq e :
: . ; ' reached the : .
masjid at 1:00 pm. He left masjid at 02:00 pm and 2 (lii) _100000 =0.1 100000 = 1000 100000
went lo bazar. After spending 1 hr and' aopmin in P e 100 :
pazar, he rgached back at home. How much time he : () 3 3%10000=30000f 3~ 100(3)(:)00,
spent out side the house. 3000
> . - 3
fone= -G L L0 Kol zlug 12 peie S0 (b) e cm’ __mm
St L s 306 VR A st 2100 L r 2%1000000 | 4% 1000000000 =
. - : = 4000000 4000000000
-Pﬁkc-/.;:,l-;f.,-\ﬁ:w,i 80000071000 = |
b, () | 0% g | 800000 | 00000000
L, 1000000
' gol. Ahmad took time from house to masjid - | o ;D 20 20+ 1000000 20~ 1000000000 -
.Lf"':”t-"’-el—éL‘ga_f”;/Ljr =20000000| 2000000000
Ahmad spent time in masjid =1 00 i) *%wo—= 0.9 E)OT(:)%?)B 900000000
St £ | 1000000000 .
Ahmad spent time in l;;zf" _ =4 30 : 12 Find the shaded and unshaded area of the following
: N7y L a———_ ¢ composite shapes.
Total time that Ahmad spent outside the 3 30 i _Jfr,lv;,y’ﬁ,l, _j;’,/j,,ljt,_ﬁb’dfﬁl._,(/‘j_jeu
house 'J‘y’-_":’:l:'k/;gc_ji.il : (i) : =
arrival time =KL T =12:00 pm + 3:30 - 0
=3:30 Pm :
He spent 3 hours and 30 mifutes outside the hours. -
cenSen305 3 e S A
2em

ete the followi ’ : : i Y X
10. Compl —% ng tahle, U"/J{Ju"‘}"}"”y : Sol. Area of unshaded area ._u(z_u:,uf;,{ =(xb
(a) em §< m /< km 32 = 3emx2cm =6cm?
i (100 a2y 100, 1561 s W) AR
0 100 1000~ 3 Area of shaded area.J,§ & W.Lix =§(8+b)h
(ii) [200000 = 200000 [2 x 1000 = 2000 ]2 | o
: =—(5+6)(2)
(ii)[500%100 = 50000 [500 %= P & . ‘
(1000 1099 1o 1000 _ | ¢ b s pfoens
100 100000 | : (ii) Bem L .
‘ 100 :
= 10000 {100 —-=0. :
(f) 100x100 0 7000 : s
0 [  km/heS3E mls 23K
: 108x1000 _ _
(.I) i 3600 *0 : Sol. Area of total figure ,;JK‘,P(;JI; ={xb.
. =16cm x 10cm
o 503600 3 < 10em,
41000 ¥ [
(iii) 144 1316(0—0_ =40 2 Area of shaded area J/62 0.5 =2| S (bx h)] ;
| 20300 _54 100 L3 l(sxw)]
1000 : 2
11. Complete the following table: :qu{Ju,J_J._w of ¥ b
(a) 2 2 2 E Sk P - ..(40)
m cm mm : 2
0 -3 5x10000=50000{ 5*1000000 = = 80cmi X<
— 5000000 : Area of unshaded area /622 g
i 7 : & X 2
iy | 000 0.7 7000 7000%100=700000 | 160cm? '§Ocm
L0000 = 80emA X<y
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(iii)

tam ‘
S = x
= 14m % 13m

=182m K 8,
-_;JKJQJ'J-EJ ={xh

=8m % 2m

Sol. All area of shape

Area of shaded

= 6mi X E,
Area of unshaded WL # = 182m2 - 16m:?
: i =166m? X 8,
v
(iv) o -
8§
2cm f-
10cm Sem
|
Sol. Area of the whole shape i/ Fi}® = 3(3 +b)h
|
= —(15+15)4
H05+15)
-3 l x 30 X 4
2
% 60cm? r"d/
Area of unshaded part J.622. 04, =5 x s
=2cm X 2cm
=4cm? ('('5/
Area of shaded part  L¥&2.LE = 60cm? — 4cm?
=56m? &y

13. A circular flower bed has diameter 4m. find the
circumference and area of the bed.

UG b WS e 4 SKN Uusdasisng
Sol. Diameter of flower bed S ¥,/ Suds = 4m X

4
Radius of flower bed Jlub’d/ﬁ,(u:’:{ = _;n_ =2mH~
~ Circamference of the flower bed A#¥(5/\/SUs = 2nr

=2x%3,14%x2
: =12.56mX
. Area of the flower bed J.«b’d/l_ftfu:’:’: = nr?
. : = 3.14(2)?
=3.14x4

‘ =12.56m* X<,
14. The circumference of a circular reglon Is 31.4m.
find the radius of the region.
LN e 231458 L ter ookl
Sol. circumference b# = 31.4m X

circumference L5 = 2nr
31.4 =2x3.14xr

31.4=6.28xr
1L
28

r
Sm /&<

L s

0 —
: 16, The radlus of a cylinder pillar ol a hrld;};T"T“:‘I

h = 10m. Find: i
:L[/rflb’;{-)flﬂdﬂuh‘}fIJ‘JJU’UJ"‘U“J,.Lq\{I

(a) Curved surface area of pillar :""C’U'}‘Ju;—m

Sol. Curved surface area of pillar sz’c’u’)u'u,r— = It

= 2><3.I4r|~,“]

. - 62,8m1 }:é/
(b) Base area of pillar ) JJV‘“‘FCQJ,L
¢ Sol, Base area of pillar ,}Jb"..xﬁ'[.ur’ = np?
= =3.14x(1y
: =3.14 x |
§ = 3']4'“1/":(‘5/
(¢) Volume of the pillar Lf ‘},vw_
i Sol. Volume of the pillar (fb’ur‘ = nrth
2 : =3.14(|)zx|0

- 3.14 X l X IO
: =314m x_¢
: 16. The dimensions of a shoes box are 15cm, 30cm gy

10cm. Find:
01 fr,h‘?.q;(‘w»lfsoafls._il)!@_ L uing

(a) Surface area of the shoe box- .

: Sol. Sdﬂ!z.icc area of the shoe box ,,ugf’b’d__jl_u,',z

: =2({b + bh + h¢)
=2(15%30+30x10+15x]()
=2(450 + 300 + 150)
=2(900) = 1800cm?

(b) Volume of the shoe box i ﬁb’&.}LLg

: Sol. Volume of the shoe box (fb’é.jﬁu:':? =€xbxy¢

=15x30x10

=4500cm? £

: 17. The dimension of a wooden right triangular prism

are { = Bem, b = S5¢cm and h = 5cm. find the

surface area and volume of the prism.

b=5¢1¢ = 8FURISSIAIL p3, Vs s hatf L g
-L{/rjh‘ﬁu'.;b(f?ﬂ{dl.ggh = Sﬂ;l

Sol. Surface area of right triangular prism =3¢b + bh
IS KPiUaLB 128G = 3(8)(5)+(5)(5)

AR A T Y

44440440

qqdeddaqyq

44444004444 ddaadnen

: =120+25

= l45cm‘f€5/
: Volyme of right triangular prism L

L b’r%bL‘.-lﬁ-,:l}'th’ e Ebfh

1 ;

g = —x§x gx§
%

: = 100cm’¢

18. The length of a underground water tank Is 7m. find
the volume of cube shaped tank.
AIFPNGLL e perful e Lt
Sol. Length of water tank Jl_,JJ.E_-'LI:J& =7Tm

Volume of water tank (TK_J:?L!JJL = f
o Tx7x17
: = 343m’ K

“q4a

dedddedddaedaedaas

adqdaae
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" m :e';lqt:th:r:s;:,"d‘::“ghl of right trlangular prism ; 7. 6:15= a.m / p.m "
surface area and volume 0!5 me'::'tm"my' it} @sison Weaitem (01506 L0 RS "
oy 3 - £ 8, 10 months it 25 days oo = ____ days &
w’”’*“”’/’,"f“&’w AP e sl i @320 @325 (@330 (43S
-4 (z""l" rdf".’w-?_)(.;_s“w,‘,){s : 9, 30 month 2 = year Jv

Sol. Surface area of right triangular prism = 3¢ +bh (a) 2 year Jv M) 2 years Ju 6 month 2o
"™ ((‘){u‘“'u‘:"ﬂ'#ﬁ' (¢) 6 month 2/ (d) None JA
= 3(5)d)+(43.5) § 10 15h 25 30 min wx + 6h oL 0miner=____
=60+ 14 o [ 22h S (b) 20h 24 50 min 2
f right tri : ~umxd, 1 (©20h 2 Somines () 22h 24 10 min =
volume of right triangular prism 1 i 11, If departure time of train is 03:20 and Arrival
Fepialbe i = S_'b{h :  time is 21:40. Then the Journey time is:
N :b‘n:iu‘)«.ﬁminz1:40.-.“»’451;103:zo.a,r&u&-[}.{'ﬁ
- '—2;(5)(/)(3.5) i (a)24 hurs o (b) 25 hour o
| i @18 hoursZ 20mint2(d) 27 hours &
0. There are seven 1 b =Sdartitel . 12, D?iu;x?eci;u —
20. cm cubes in a aquarium with o e el
¢ = 30cm, b = 20cm, h = 20cm. find the free space [ Speed . (b) Arrival time =H¥&5

(c) Departure time .-Jsﬂﬁu (d) None u:’ Jf
13. T2km/h SFOKK = mis 23K

(a) 16 m/s 2E0% (b) 18 m/s LEGX

I 20 ms SE 02 (d) 22 m/s 204

of term volume inside the equation.
LJleh= 2o,cmmb =20cm¢f = 30¢mtﬁtﬂr(£'-f'
Lk VBJLL1L ok 4-u_1.,af..-..v£1c:;=
Sol. Volume of aguriam ‘} b’({,f | =¢xbxh :
=30cm*20cmx20cm 14. Perimeter of rectangle JLIKJS = ____
=12000cm? : [@@2x(+b) (b)3x(+b) () 4x(I +b) (d) 5x(I +b)
Volume of one small cube (z ¥k AL = lem® 15. Perimeter of square b8/ =

Volume of 7 small cubes f.’(__;(é,,{_-_-,l,, a1'x7 (a) 21 (b) 31 (¢ EY (d) 51
16. Perimeter of triangle SLIFat> =

I A R R A A R A A A A R A A A A

PREERD

444644 ddedd

=T7cm?
Free space inside aquarium ,i 1 u;du/,uémf I @a+b+c(b) it ©) & (d)a-b-¢
= 120007 ¥ ®
= 11993cm® (o § 17. Value of cube (F6cH =___

(a)! O L @
18. Volume of cuboid (EVU.('(=

@ /xwxh  (b) +w+h  (c) I-w-h  (d) Hw-h
19. 2nr=

(OBJECTIVE TYPE uussnous)

Questions Based On New Examination Techniques

Knowledge, Understanding & Analysis MC (b)A ©)r (@d
= : 20. Area of circle = iy 720
O Encircle the correct option. - ﬂ.ﬂuféﬁfc‘m (a)m (b) 2nr? (c) 2nr M) e
1. The length of space between two points is called: - 21. Area of cylinder = (17,.3;;1,)@(‘7&
B Digenl s i [@2ne(r+h) (6) 3nr(r+h) (¢) dne(r+h) (d) Swe(r+h)
[ Distance L6 (b) Time = : 22, Surface area of right square prism =
, (lc) Speed /0 (d) None 207 3 Foi s
s m= H 3 2+ 2 ¢ 2 2
10dm  (b)20dm  (¢)30dm  ()40dm  § o g"gli 2 (A 223)2’ 4 (d)2+5h
3. 15km 200m = m: B o R R T :
(2) 15000 (b) 15100 15200 (d) 15300 : (a) 10000  (b) 100000 1000000 (d) 1000 .
4. 2m35cm = s : O Give short answers. Iy
W25 (352 (9532 (@253 ;1. Define distance. Lt S
5 Mm= cm: i Ans. The length of space between two points is known
(@)7000 (b)7100 [@7200 (d)7300 i asdistance. S L (L)Wl b6

LL}

6. 5:45a. ime:
S a.m into 24 hours “meidfditﬁﬁ’ﬁ‘:{“ :2. Change 15km in meters. _q/d;@j{j}{,ﬂs
(a) 05:45pm (i) 05:45 (c) 05:45am (d) None S8/ i Ans. 15km =15 x 1000 = 15000 m
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-

e —— - Y L 1 3
’ i1o the formula to find the area of R,
3. Convert 4000m in km: :q/dg@):‘,h’/;{woo : 14, Write the fo -U:JJVLJHS_‘"?E |

e ' 4
Ans.As Im = oL, km ea Js = length Jud x breadth i’z (unitgy2

L33
=N

rrne

<

: Ans. Ar
i l z ?;‘SWhat are the perimeter and area ol‘lriangk?
4000 = 4000 x T 4km B -U-‘i! ﬁ-/( v Jl-lm_.;,r&

4. Convert8m 25¢m into m: Ans. Perimeter of triangle ;w:/_w = (atb)

LZ]/JN}: ‘&2‘ ‘3{25): 8 Area of triange —.L galb= 5 {hear) (height) (u"it)’

Ans. lem = 750™ 16. Define circumference. B ET T
: Ans. Perimeter of the circle is called circumfereng, * *
Ty _‘érlbfu&__;r,.u.lgqb
100 17. Define radius if circle. -2 Uik,

L A N N A Ty

Nowo/ 8m25cm =8m+0.25m=825m
S. Convert 5:45 a.m into 24 hours.
LI HEUH 24f 4:450.m
Ans. Remove a.m from 5:45.
Then we get 5:45 K’nt:zJ’bJ/?q/f}fa.mc,s:flS
6. Convert 3h 20 min into mins:
-/ #3020 min
Ans, 3h 20min = 3x60 + 20 = 180 + 20 = 200 min
7. Convert 1 year 6 months into months.
-y Ak
Ans. | years JI- 6 months 2+’ =1x12+6=18 months -»’
8. Convert 108 days into weeks and days.
-Q_‘/J_' FAUPUIYS

Ans. The distance from the centr_e of the circle to
point of circle is constant. This constant dis‘aﬂce 4
radius.-c.t'lk'(J‘UJ‘Ud?”{bw"er{‘-;"c-/"}{g%

18. Define diameter. _ oy, U’/"J

Ans. The length of a chord passing through the cente, of

€ ll
-‘:—vtLk{;&Js:;--;ljc-v/djz:—J{;z é )fJ?~

19. What is arc? Yl
Ans. An arc is a part of circumference of circle.

_ujg’:‘j}f;fuﬁﬁ !’-"Lé-fb

.20. If r = 7cm find circumference:

-
a

L N I L T

r= 7cmﬂqfr,bx_, >

PEEEREBEERLY

22
Ans‘c=21“-= 2X—7‘X7=44cm

1
Ans. lday o» =— = i
ay s 7 week =i 21. Write formula of surface area of cylinder,

ol

108
10 S —= =i 3 days ¢ &
5= 3 days ¢/» 7 15 weeks =2 3 days ¢» \ 2%, Surfiioe e _')/f’ 2 (r+ h)
9. What.is speed? v‘-‘_ngUJ 22. Write the formula of volume of cylinder.

Ans. Speed the rate of change of distance per unit time. ,,Qf{,.)’ (rf 1y
-g,}jjéfl,/‘gﬂii;.ﬂ!&;ﬁ;d&liuﬁ/ Ans. Volume of cylinder ZKJ:J’ =narlxh .

Spced 4 = Distance covered Logy/2- : 23. What is prism? fe ¥
Time = : Ans. A prism is a solid 3D object that is bounded an all

10. Convert 72km/h into m/s. its sides by plane faces.

LSRRI YA e b UL LGNS 2 P DL

L R R R R YIS

LR}

a

€saqe

. . 72x1000 24. What is right prism? S P00
1 = —————=20m/ .
An;._‘kan:t/h 1x3600 s Ans. A prism in which its bases are identical and

parallel and all other faces are perpendicular to the
bases called right prism.

11. A bus s travelling at uniform speed. If it covers
60km/h. How much distance will it covers in

AEdAaqaeadaddaddend

right rectangular prism, -q‘J?J”J;J—ﬁ:')'wf

. f object varies throughout the journey.
ANE Sposial s uy i : £ Ans. Surface area of right rectangular prism

e Gtz

8hours. . ) : Lunbe g LUy $iFnlun @ Lk
Ans, Distance covex:ed/in oniil{);r =60 km 2 WS U e |
" ‘:-b” v -:j =60 x 8 = 480km $25. If h = 12cm, w = I = Scm. find volume of light
o e cov 1ol o
hatd 4 b LJera e speed? ¢ Ans. h=(5) (12) = 300cm3
av :
Skt o gi‘:_l:l/{fdlvTr_Jfle :26. If h =5cm /= 15, w = 8cm, find surface area of

IEES s = 2iwrwh+h)

13. What is uniforrfl Sp_eed?. 5'9?30;(4“.’! ; — 2(lwtwhthi)
Ans. Speed of an object remains c—onstant ll.uoijgpout the : = 2[(15xB+8x5+15%5)]
journey. Y bz’ =2[120+40+75)=470cm’

https://stepacademyofficial.com/ -


https://v3.camscanner.com/user/download
https://stepacademyofficial.com/




